THE BATTLE OF BRITAIN
QUESTIONS

1) Which option best describes how the information was organized on the first page?
	a) Chronological
	b) Cause & Effect
	c) Problems & Solutions
	d) Similarities & Differences

2) What targets did the Nazis attack in the opening stages (June & July) of the Battle of Britain?
____________________________________________________________________________________________________________________________

Explain why this is an intelligent strategy (you’ll have to think this out on your own).
__________________________________________________________________________________________________________________________________________________________________________________________

3) Paragraph 2 highlights that Britain had some major technological advantages over the Nazis.  Find 3 specific details that support this idea.
	a) _______________________________________________________
	    _______________________________________________________
	b) _______________________________________________________
	    _______________________________________________________
	c) _______________________________________________________
	    _______________________________________________________

4) The 3rd paragraph compares what?
	a) Spitfires and Hurricanes
	b) Airfields and Radar Stations
	c) RAF loses and Luftwaffe loses
	d) August and September
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5) In August (paragraph 3) Hitler changes his focus to what targets?
____________________________________________________________________________________________________________________________

Explain why this is an intelligent shift? ____________________________________________________________________________________________________________________________
______________________________________________________________

6) In September (Page 2, 1st NEW paragraph), Hitler changes his focus to what targets?
____________________________________________________________________________________________________________________________

What led him to change targets?
____________________________________________________________________________________________________________________________

Explain why this shift actually hurts Hitler’s chances.
__________________________________________________________________________________________________________________________________________________________________________________________

7) What, if anything, shocked you about the total # of planes/people lost?
____________________________________________________________________________________________________________________________

8) Winston Churchill’s quote is quite witty/clever.  Put the quote in your own words.

“Never was so much owed by so many to so few.”

____________________________________________________________________________________________________________________________
